CERTIFICATE OF REGISTRATION # F—11852

® 2R
THERMARTRU = S
DOORS | | g for s
Fiber-Classic. & Smooth-Star. °1] - e @
WOOD OR COMPOSITE EDGE §§

GLAZED FIBERGLASS SINGLE DOOR

W / DIRECT SET SIDELITE (s) -~ 71.75" MAX. O;A. FRAME WIDTH —=— o _@
. 37.75"'FRAME o FRAME o9
INSWING WIDTH WIDTH & & 2
1] ] D -0
NON-IMPACT - - gs | g
/ / <% 1458
(I il
=5 9 5o
S S3
S S| &0
S El Tx
g & g
EVALUATED FOR USE IN THE STATE OF TEXAS 2‘5 o N
The Fiberglass Door system described herein complies with the 2018 International % E 0] @) @
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code ==
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions: R e
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to
base material shall be beyond wall dressing or stucco. 2
2. When used in areas requiring wind-borne debris protection this product is required to be 2
protected with an impact resistant covering that complies with Section R301.2.1.2 of the / ; oI
IRC and Section 1609.1.2 of the IBC. v — )/ o
3. Allowable design pressure requirements must be equal fo or less than the design pressure B Y | USSR || SU———— | S—|
rating shown in the design pressure chart, sheet 1 of this drawing. 1.5"
4. Conditions not covered by this drawing are subject o further engineering analysis. (TYP.)
5. Fiber-Classic and Smooth-Star Door and Sidelite panels require the use of "J" part numbers. L)
Al i : TR : : DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) <
These door and sidelite panels must be stained or painted within six months of installation. CONFIGURATION G‘onZ?rfG xsmroi)é EMENT w/ FJ PINE JAMBS w/ COMPOSITE JAMBS o
T REQUIRED ™o 5SITIVE | NEGATIVE | POSITIVE | NEGATIVE e
SHEET# TDESCRIPTION e e NO +35.0 | -40.0 | +30.0 | -40.0 L
1 Typical Elevations, Design Pressures & General Notes 7 Vertical Cross Sections —
2 | Door Panel Details 8 | Frame Anchoring XO. OX. OXO YES +35.0 -40.0 +35.0 -40.0 DWe. BY: RFV;
3 Door Panel Detdils ? Hardware Details T CHK. BY: L
4 Sidelite Panel Details 10 Glazing Details FLUSH NO +30.0 -45.0 +30.0 -40.0 DRAWING NO.:
5 Elevations 11 |Bill of Materials & Components YES +30.0 -45.0 +50.0 -50.0 TX~5144
4 Horizontal Cross Sections : : N :

sHEeT _ 1 oF 11

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' FC SS Glazed FG Nonlmp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5144-45.dwg

© 2021 R.W, BUILDING CONSULTANTS INC.



]
118" 402" | NOTE: BOOK, HYBRID & U1 DOORS .e.ﬁ*‘}}'ﬁ\}u,l o Q
EXTERIOR ] MAY EACH BE FABRICATED AS WOOD SNS i O 4l £ .
y— e : OR COMPOSITE EDGE DOORS. ,%;\;f TR -“%f"g EX 3 8
i / . Zui N, 0l 209 |8u ¢B &7
™~ e * 4 N go:' Dy 2 Nt %~ Gu
8 = Fut PNJuiE BAFSIce oo gv
O Y 1312 EsE S| § 283 23
X - . :’ : ::‘0 - = T -~ F
\ INTERIOR \ WOOD CAP G i8] I T 384 ﬁé
HINGE STILE LOCK STILE "zh*s‘:‘: 70 £ob 50
Moo {1\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD) o § 8%, 88
\2_/WooD EDGE B Za8, Sy
&8 3q8 2
e 0.4 3.4" & Ron gk
- o7 0.4" —— ___TOPRAL s X %
EXTERIOR 1~ (COMPOSITE) S Ik
=5 = - o
= : | TOP RAIL 1 g "
\ ) & (COMPOSITE/ ] -
s g ; 2 _ ENGINEERED WOOD) 2
COMPOSITE e |
INTERIOR \ CAP ; T FOAMCORE — | a
HINGE STILE LOCK STILE A (POLYURETHANE - ' S | B
(WOOD) 2"\ HORIZONTAL CROSS SECTION (ENGINEERED WOOD) It 1.9 PCF MIN.) ES | °
\_2_/ COMPOSITE EDGE 7 <0 |31 o
1] = =
ES o <
Uy |5 &
S |8 x
. 360'MAX.DOOR __ __, 35813'MAX. DOOR 35.813" MAX. DOOR s 28
PANEL WIDTH PANEL WIDTH PANEL WIDTH 2 o
8 E
P 0. E
2 2 tebl
m
! INTERIOR y EXTERIOR INTERIOR y
W
[72]
s b b 5
0] O 5 O 72
£ ¥ T ¥ ol
o o o 2
= = =
& x X & X
o) o o S Y
D‘ D‘ D. * .v-." ‘.; -
n = " .“‘ = <
& o % 2 T FBERGLASS SKIN 1P o a
% o ¥ = (0.082" THK.) ' = ~
o~ o~ ot : . g
/ / : : oaTE: 1,/06,/21
/ / Lo I somompar—"" o S | SAE_ N.T.S.
] .7u (COMP.) ]_-_‘ ‘ .7!l ’ DWe, BY: Rw
CHK. BY: LFS
DRAWING NO.:
b b b / 3"\ VERTICAL CROSS SECTION /4 \ VERTICAL CROSS SECTION TX—5144
. DOOR PANEL ‘ DOOR PANEL DOOR PANEL 5 Wo0D FGE 7 CONPOSTE EoGE
BOOK Hybnd Door U1 Door \_j U SHEET -._2_‘ OF__U_.

Z:)\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5144-45.dwg

© 2021 R.W. BuiLbing ConsuLTANTS INC.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' Glazed FG Nonlmp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5144-45.dwg

1.7

402" '

EXTERIOR

A\

A\ LOCK STILE
(ENGINEERED WOOD)

INTERIOR

HINGE STILE
(ENGINEERED WOOD) /"1™ HORIZONTAL CROSS SECTION

w WOOD EDGE

' 3.6" ‘

1.7

55— -

. DOOR PANEL . DOOR PANEL
BOOK Hybrid Door

EXTERIOR
- ld_ COMPOSITE
] CAP
COMPOSITE HINGE STILE INTERIOR LOCK STILE
CAP (ENGINEERED WOOD) (ENGINEERED WOOD)
m HORIZONTAL CROSS SECTION
\y COMPOSITE EDGE
36" MAX, 35.813" MAX. 35.813" MAX.
|- DOOR  ——»] ~—  DOOR — |~ DOOR  —]
PANEL WIDTH PANEL WIDTH PANEL WIDTH
< 3 ) { 3 } < 3 >
/ / /
4// 4// 4//
| 2381"D.LO.
= WIDTH = =
O ) Q
TN e s 1
: 5 = :
2/ T gm _
=3/ v o 23/ RAEEANEY
S X | s 3 X | S X
o © = c © &) ©
E [0} S < 0} § o]
5 | = T
Te] in w i w0
o~ v o~ w o~
,/ ,/ ,/

‘ DOOR PANEL
U1 Door

AN ui
NOTE: BOOK, HYBRID & U1 DOORS S wii Wy o o
MAY EACH BE FABRICATED AS WOOD 39’{5: wiQ 1, G55t £3 9.
OR COMPOSITE EDGE DOORS. S gt ) Ex 32 U8
25, iSi, 29 [g. o8 EC
5“.: idia WP %M g7 2.
g&iylivcic ZaglNur 2.5 8-
?’wi izic SEAN|s? L5 2>
vz 0 KoL e E 23 89
U 21 o |3 358 gk
‘fzh:“gg; 7 el 2.5 L&
odac 5 OR8: g9
ox2 ¥
ke =z 0 ke
 5%¢e 95
o 4 .k 0
£ RRE g
o Cong
2 § L
5 gg
E KBS
8
TOP RAIL
{ (COMPOSITE) ‘i 9
5| E
=
T I o b
o . SISEER N é% é LEU
x N f ® i o
© | FOAM CORE/ oy e R % o
[POLYURETHANE - P s
1.9 PCF MIN.) Q g =
8 =
E g
P
m
)
Z
Q
. o
: \ o
FIBERGLASS SKIN
(0.082" THK.)
.
: <C
% : % 0
o | o o
o ! 2
oaTE: 1/06/21
B SCALE:
T BOTTOM RAIL _{ po— N'Té‘SA}
COMP. =
A—I 1.7 1<_- ( ) —»: 1.7 L—« CHK. BY: LFS
(3" VERTICAL CROSS SECTION /g\ VERTICAL CROSS SECTION. ~ [™"¢ ™

N

SHEET 3 oF 11

© 2020 R.W. BuiLDing CONSULTANTS INE.



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5144-45.dwg

L

G1/G2

/i
[/

/"1 \ HORIZONTAL CROSS SECTION

&/

98" MAX. FRAME HEIGHT
94.25" MAX. D.L.O. HEIGHT

- 15.5" MAX.
FRAME WIDTH
13" MAX.
D.L.O WIDTH
,/
Vi
/
1)
/Y

@ SIDELITE PANEL

PVC INSERT

BACKBEDDING
COMPOUND

18 GA. X 1" BRAD NAIL
(LOCATED 1-1/2" FROM ENDS
& 4" O.C. THEREAFTER)

BACKBEDDING
COMPOUND

EXTERIOR y

—~—1/2" GLASS BITE

—1" O.A. THK, GLASS

3/16" TEMPERED
L T Glass

N

y/i

N

RO\

™~ AIR SPACE

\3/1 6" TEMPERED

GLASS

STEEL SPACER

GLAZING STOP (7/16")

G1 GLAZING DETAIL
1" Insulated Glass

INTERIOR

33

7“2\ VERTICAL CROSS SECTION

4/

(LOCATED 1-1/2" FROM ENDS

PVC INSERT

BACKBEDDING
COMPOUND

18 GA. X 1" BRAD NAIL

& 4" O.C. THEREAFTER)

BACKBEDDING —

COMPOUND

—— 1/2" GLASS BITE

/1.

GLAZING DETAIL

G2

AIR SPACE

3/16" TEMPERED
GLASS

3/16" TEMPERED
GLASS

1"O.A. THK. GLASS —

STEEL SPACER
GLAIZING STOP

1/2" GLASS
BITE

i

(7/16)

SIDELITE
ADAPTER

f

BACKBEDDING
COMPQOUND

G1 GLAZING DETAIL
1" Insulated Glass

3/4" Insvlated Glass

3/16" TEMPERED
GLASS

3/4" O.A. THK. GLASS

STEEL SPACER
GLAZING STOP (7/16")

i:}“F.'"é" -

Yy 04
GE, i
e 21
al{"*.‘f;f R

QITAVERRS

— 3/4" O.A. THK. GLASS

3/16" TEMPERED
/ GLASS
S~ AIR SPACE

3/16" TEMPERED
GLASS

AR SPACE

/i

3/16" TEMPERED
GLASS

"

STEEL SPACER

GLAIZING STOP
(7716

SIDELITE
ADAPTER

ﬂ [__ 1/2" GLASS
BITE

BACKBEDDING
COMPOUND

C) GLAZING DETAIL
3/4" Insulated Glass

ui
ey
83 2 oy
- D R
_g’k o ul o
0 Z e

S B &+

& o Zn z !
. = 0N Wk

A\ b P
- -

N °§ go"! gz
2 L1292 B0
ek EEg8 op
2 J o @

258 08
Z9® &b
> Y] xo
) ON‘ 5
9 74
o ©XZ
o Zm° oL
] 9 .c 4°
& 502 gu
& [ 55
[ mE
£ i
: 2k
3 @ 3]
3 =
o
o
wn
=
<
o &
K| ¢
P
<0 |3 =
=2 |8l Z
3 19 o
L:'E’(D i ]
£ |of &
Led 1721 B
R - I s vy
5 = sl g
= o ?
S b
o o
>_
m
[72]
zZ
O
2]
o
L
<C
e
o
4
oaTE: 1/06/21
scAaLe:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5144
sHeer 4 ofF 11

© 2021 R.W. BuiLDING CONSULTANTS INC.



TON SANVYLINSNDOD aNIGTINg "My L2022 @)

ZSBLL—d # NOLLVMLSIOZN 40 ILVOIHLLNIO SNOISIAIY -
SHIANIONT TYNOISSIH0MHd 40 CHVOH SvX3L SNOILYAT T3 Ad 31v4 [ON}~ 20| < 1_
meae g o NG L -
LELB'6S9'CLE 'ON suoyd : N =
GBGESC 14 OOUIDA 00Z Xog .o.m\N\Nv@u ATENASSY MO LMvd nOD m —~ .. s
“ONI ‘SINVLINSNCD ONIaTing N . g | 5_
4000 SSY19¥43814 RIAEIEE
CZLPOL# 'I'd SVXAL NY1—VYWIIHL ] m o lwiZ &
‘A'd IPILYDS ‘4 UOPUAT  iAg peupdeid SjUSWINDGOG 1L0NA0Nd HEIHEE %
)
@
o/
5y o
g & g
D vened £21v01 i \C “ m
Fiainiios s ot =3
Gersengrasmnrinn., 3, NOONAT £ -
AR 7 22
(X Ry <<
B, S, oL Zz =
PR A 2|00
LTI =
& s Bla B
: 82|83
o) ¥ Q0 ¥ 0
5%
P M
[R5
= o o
S | 2
% b G| 2
N S O A B
mw

J

ELEVATION
0)(0]

SEE HARDWARE CHART
|
#

(2
&
\

<>
4
////
O=
/4
NGV

I
|
Fiber-Classic/Smooth-Star Door Panel Options
Panel options shown are for illustration and are representative only
{similar glazed panel configurations are allowed)

N oo g vo——r
/,/ MIW ~,ﬁrllnhlld.m I |
e <|Q = =T
o .
P
X (TN
- | §
NS ,//ﬁ/ ] ]
E |
LT LIy v LTTLXy TLTLE s T

BMP Sy §-X1\sBumMeIQ - D\(SFLS-07LS XL) SONIBPIS 195 i S| dWIUON D4 Paze|9 .8 8 L ‘8.9 - XXX ¥d - 1QL\su] J0 1daq sexa L - G\LNINVINYId NiL BuldY\suslD\'Z



TON] SINVLINSNGD aNIigang ‘Mm'd 1202 §

Z68LL—4 # NOLLVMISIORY 4 SNOISIATY
SHIANIONZ ._<zo_mmm.._oxmmu00cw._o‘mom§mwmwk mzwﬂ%m%ﬁmwmmo A8 31vd [ON

LBLB'6G9'C L8 ON 8uoyd T
G695 14 OOMIDS OSZ o8 O \S\&. XISV 90 1uvd

‘ONI "SINVLIINSNOD oNIauNg
#4000 SSY1943814
£ZLYOL# "3'd SVXAL NAL—YAHIHL
Id IPIUYDS "4 UOpUuAT :Ag pedodeld sjuswinoo( 13Na0ud

\N\v.ﬁ

4 AA
Aoy

3 YN

-
-~

RW
LFS

DRAWING NO.: -

N.T.S.
oF

TX~5144
6

paE: 1/06/21

CHK. BY:

SCALE:
DWG. BY:

SHEET

-~

N2 e 8o
- gasN &.V...wﬁ%o
~ %

[ $ [ 504
“\.\\octzaaotoo‘ PvOP

z

',

s
vo.o-::c:::..»f:..»\\w

/l
[/

D)

27

/” 4"\ HORIZONTAL CROSS SECTION

w Shown w/ Back-to-Back Jambs

/- EXT. SHEATHING
[ DRYWALL

e
N

3

2
EXTERIOR

1/

D!

A\

1
/" 2"\ HORIZONTAL CROSS SECTION

EXTERIOR
INTERIOR

&/
7
Selol =

/"3 HORIZONTAL CROSS SECTION

\6_/ Shown w/ 2X Reinforcement

L.
(0(a)®)

/"1 "\ HORIZONTAL CROSS SECTION

MR
W\

mpC

EXT. SHEATHING 0.15" C-SINK

BMP Sl §-X L\sBUIMBIQ - D\SPLS-0FLS X1) S3MIBPIS 185 41 Si dWIUON D4 pazelD .8 1 .. ‘8.9 - XXX ¥d - 1aL\suf Jo 1daq sexal - S\LNINVINYId NIl BuBy [\sIusD\'Z



TONE SBANVLIOSNGOD 9Nigaimag "m'd L2802

ZS8LL—d # NOUVMISIOFH 40 3LVOI4ILH3D SNOISIAZY
SHIIANIONI TYNOISSZAONd 40 aMvod SvXal mzo&%%%mm%omo Ag 41Vg [ON] — =lo| 1_
N o A
LBLB'6S9'CLR "ON euoyd : N e Al
cosce O L o o \Sv@u XTaNISSY U0 19vd = P
"ON! ‘SINVLINSNOD ONIgUng N g 1 7_
¥00a Ssv1943gld = Elgle X
STLPOLF I'd Svyx3L NAL—-VAYIHL g o|x|Z &
"I'd IPIUYDS 4 uopuky :Ag petpdesq sjuewinsoq 1DNA0Nd b3 W 5 W &
A
lnf.l..ﬁ. 2\ 1
S50 il u,
\ﬂ\v‘\hvy t;.-:-o.wm zmo_\ V.-o%ov\QNAf
\\tb ..”-ols ...anﬂ\ »V
m‘:-oﬂo:a:mmm‘om.o&‘ -«wﬁ‘ L
2.8 4 NoGnAT 2
\* 0 L L 22 Y PTNEON Fahka? 3
A S oo —
Sy : m
KENC I RN 9]
,.Jmmm& u&.ww,mw..u. o S m
TR & QO O
Z O =
o - “Ya) 8
@)
> i QO
i a
(7]
5 3
O
FEL
S m oy
m S
w3
3 o @
ol - O
AR o
g b =
il “w IN..
O
ac
O
S~ N.
O
>
i
D >
\ ®
\ g
- @ *
=
Pre
=
-—
(24
0
[N
5
o ¢
© O
= O
o S
O o
o
L
s (=)
i

3N
W Inswing Sill

VERTICAL CROSS SECTION

2

—" .
/ EXT. SHEATHING

o
.

OO0

<) = O
o e
S L @ o
o= z o
5 o =
; ® °
[ SR
[, ]
)
e
= U g
D = ]
S AT < -
A\ \ W B
M = Land | 08 &
= = i
(24 m F
5 &
&
>
[+ &]
Ere
2
S~
z

1. Sill tem #'s 32 & 33 are atftached fo jambs

Note:

BMP'S-PL 5-X1\sBUIMEIE - D\(SFLS-0LS X1) SOIBPIS 385 41 S| dwUON D4 Paze|D 8 78 .2 ‘8.9 - XXX ¥ - IQL\su| jo 3daq sexa] - S\LNANVNYId NiL BuBY\SWU3ID\Z



ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' Glazed FG Nonimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5144-45.dwg

6" (TYP.) —=!

4" (TYP.) ——

Ry

MULLION

HEAD & JAMBS
(TYP.)

_BACK-TO-BACK

2X REINF.
(TYP.)

-1

14.5" MAX
0.C. (TYP)

1/

®

1/
TOE-NAIL DETAIL @ HEAD

TYPICAL @ EACH 2X REINFORCEMENT

d

2X FRAMING
(TYP.)

|

DOOR FRAME
(TYP)

4 (TYP.) —]

€ MULLION

S

4" (TYP.) ——I

(3) #8 X 2-1/2"
PFH WS

JAMB TO HEAD DETAIL

HEAD & JAMBS
(TYP.)

BACK-TO-BACK

2X REINF.
(TYP.)

;-

-

FRAME ANCHORING

(TYP)

14.5" MAX
0.C. (TYP.)

o %, 3
= ,éb‘,.- (g

LXTI YT

[a R

N. ON F. SCHMID

7*7’-&/

A\
W/

300/\
[
!

TOE-NAIL DETAIL @ SILL

TYPICAL @ EACH 2X REINFORCEMENT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.O. Box 230 Vairico Fl. 335985
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

THERMA-TRU
FIBERGLASS DOOR
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

pate: 1,/06/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-56144

sHeer 8 oF 11

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLITINSNOD aNIaging "M'd 1202 @

ZSBLL—d # NOUVNLSIORM 40 3LVOIILY3D SNOISIAZY ;
SHIANIONI TVNOISSIAOHd 40 QuvOoE SVX3L STVIIA JUYMaNYH Ad 31v0 [ON|«~ =0 < 1_
N » g A
; LELE'6S9°CLE FON euocid : DT 1 el L
S6GEE 14 OSUIDA 0CZ Xo@ ‘O'd \Snm% *XIBWISSY_ 90 1uvd o 558
“ONI ‘SINVAINSNOD ONIGTING N . z | 9_
400a SsY19y38/4 =l Bl Ele X
£ZTLHOL# "3'd SVXAL NAL—VYAA3HL i ol|Z &
‘F'd WPIUYDS ‘4 Uopuky :Ag peibdeld sjusuINDo(] 119NA0Nd Z 3 W z

. .
. u.,
£ZIp0L 1>
\\toabonontoac'o-:.oo:o-o-.:.... :’*::MU

2
2 LAINHOS 4 NOaNAT £
3

A Al d IATIITPTRN Sl

(X $

m-*.ﬂ K3 3 «.\m\\

'3 o, S L

.w&% .. o
Wt £

2X STUD/2X REINF.,

L g

.../ku
:-:o-oto. 4
WAL TR AT

@ BACK-TO-BACK

TRy

%
HINGE DETAIL

)
ML
@1
plleY
i\

9
;
©

@)

[<+]
=
w L] » . . . . u M
r [l ] &% [l [t} m %
# |2 | By =
. x
| awasiodor — .u@%m« —
L Wodd.EL8 " )
ZZ o
SaE
o
(S'1¥).88°09 _
S'G Q
D 3[s
_ ) ] 3|2
[ = I Bl
/ ElS
9
T
582
<oF
HoP
9
M
o
5
o
2

Schlage

LATCH & DEADBOLT DETAIL

LATCH & DEADBOLT DETAIL
Kwikset

LATCH & DEADBOLT STRIKE DETAILS

Bap sy-pLG-X1\sBuMesq - D\SPLS-OrLS X1) SSMIDPIS 195 4Q SI dwiUoN B4 PazeiD 8 1 .2 ‘8.9 - XXX ¥Q - IGL\su] $0 3daq sexal - E\ININVINYId NiL eUBy\sIUBIDN'Z



Z:\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDi - DR XXX - 6'8, 7' & 8' Glazed FG Nonlmp IS Dir Set Sidelites (TX 5140-5145\C - Drawings\TX-5144-45.dwg

BACKBEDDING
COMPOUND
_.,] 1/2" GLASS BITE
S it T s LA
DOOR PANEL 1/2' THK. GLASS
/ 1/8" TEMPERED GLASS
~ :sAm SPACE
1/8" TEMPERED GLASS
DURASEAL SPACER
#10X1-1/2"
PPH PLASCREW @
<> GLAZING DETAIL
BTS Lite Frame
Door Panels
1/2" GLASS BITE
5/8" THICK GLASS
DOOR PANEL
1/8" TEMPERED GLASS
N AIR SPACE

1/8" TEMPERED GLASS

BACKBEDDING

DURASEAL SPACER
COMPOUND
GLAZING DETAIL
Flush Glazing
Door Panels

i<—~ 1.7 ——1
—’j L— 0.5¢"

P
il

. BTS LITE FRAME
1/2" Glazing

WTept
SCHMIDT

jé;' y
Aoennervesnny,
1 0‘4“7‘”““””““”’

SOOSRRTT
orT
=% é! .

.
o
o
*
%/
Ly
AL RIS
-

&
H

LE2 T TP YT
:
NDON F

792.13' MAX D.L.O. HEIGHT

#10X1-1/2"
PPH PLASCREW

BTS Full Lite Frame

9.75"
(TYP.)

21.13" MAX
D.L.O. WIDTH

h-é
g
L
53
Es o
£ D
o M
N [
. Q. .
L. i :;
[
cg by
O (e Bt
] 00
€ - T
2 o®
>m
o n
9
N
X
[+
m
g
o.

BUILDING CONSULTANTS, INC.

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

THERMA-TRU
FIBERGLASS DOOR
PART OR ASSEMBLY:
GLAZING DETAILS

PRODUCT:

BY

NOJ. DATE

REVISIONS

baTE: 12/10/20

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX-5144

SHEET 10 oF 11

(jD 2020 R.W. BUILDING CONSULTANTS INC.



—

BILL OF MATERIALS SorhiBi g .5 i
EM# | DESCRIPTION MATERIAL R - 456" o ;}“ iFEC £g 2 g 2
B | 2XBUCK (G >=0.42] WOOD n S Foi NAiQi2 hy ¢gB B
C | 1/4"MAX.SHIM SPACE - A —_——u T 4ot fuw iy weo ZSab MY
D |1/4"PFH DeWALT OR ITW CONCRETE SCREW STEEL T qui T izl §§ g2 32
F__ | #10X2'PFH WOOD SCREW STEEL ————— %j&& HeH 5 558 ak
L |#10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL Yiggk w135 Pt 2cn E%
Q #10 X 3" PFH WOOD SCREW (1.75" MIN, EMBEDMENT) STEEL ! 2.3¢6" ! o & GRS d Eg
R 3/16" X 3-1/4" [TW CONCRETE SCREW STEEL 3 % § f 5 i
X___| 2X REINFORCEMENT [SG = 0.55] WOOD (7 o0 AME fo 2 248 g,
1 [WOOD JAMB (FINGER JOINT PINE ) WOOD = 456" - . ¢ REE 33
2| COMPOSITE JAMB COMP L SO £ = E
7 WEATHERSTRIP FOAM £ @ é’ 8
8 | DOOR SWEEP VINYL 3
10 #10 X 1-1/2" PFH WOOD SCREW STEEL 1 2
11 | #12X1-1/2" PFH WOOD SCREW STEEL ! 212 f
22 #8 X 3/4" PFH WOOD SCREW STEEL
23| #9 X 3/4" PFH WOOD SCREW STEEL @ COMPOSITE JAMB x| 9y
24 #9 X 1" PFH WOOD SCREW STEEL 2R 3‘(:%
25 #8 X 1-1/2" PFH WOOD SCREW STEEL Zm 5t E%
26 #8 X 5/8" PFH WOOD SCREW STEEL g% @ f%
27 | LATCH STRIKE PLATE STEEL Ug @ &3
28 DEADBOLT STRIKE PLATE STEEL . '“% 4 I
28A | DEADBOLT SUB STRIKE PLATE STEEL § gl ©
29 4" X 4" HINGE STEEL * i 3 =
32 INSWING THRESHOLD ALUM/COMP 2 . & &
33 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP - >
40 DOOR PANEL {BOOK) B >
41 DOOR PANEL {HYBRID) -
42 DOOR PANEL {U1) -
32 INSWING THRESHOLD
Adjustable Composite Sill
(2]
=
3 o
2.08 o
|
SIDELITE .
CONCRETE ANCHOR NOTES: ADAPTER <
. Concrete anchor locations at the corners may be adjusted to maintain the min. ™
edge distance to mortar joints. ‘—i
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors wl
may be required to ensure the "MAX. ON CENTER" dimension are nof exceeded. 'j;:
. Concrete anchor table: 583" (o)
o
33 INSWING THRESHOLD w/ SIDELITE ADAPTER =
W . . . Composite Sil oaTE: 1,/06/21
1apcon®| 14 1-3/4 z 4 seAE  N.T.S.
lumeacong] 14 | 1w r « oo o RW
W CHK. BY: LFS
arcon® | 3¢ 1-1/4" 3 1-1/2" SRANG oo
WOOD SCREW INSTALLATION NOTES: TX—~5144
. Mainfain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws fo prevent the splitting of wood. sHEer 11 oF 11

Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8’ Glazed FG Nonlimp IS Dir Set Sidelites (TX 5140-5145)\C - Drawings\TX-5144-45.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



